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FEBRUARY 2010 (SAUDI CHAPTER)

SOCIAL SCIENCE
Class :IX Max Marks : 80
Duration :3 Hrs

SET-1

General Instructions:

1) The question paper has 36 questions in all. All questions are compulsory.

2)Marks are indicated against each question

3)This question paper consists of two parts i.e. Part | and Part Il. Part | of the question paper contains MCQs from Q1 to
Q 16 of 1 mark each. These are to be answered on a separate sheet provided and handed over two the invigilator in
the first 30 minutes only.

4)Answers to questions of three marks should not exceed 80 words

5)Answers to questions of four marks should not exceed 100 words

6)Attach the map provided with the answer Sheet.

7)There is no overall choice. However internal choice is provided in some internal questions

8)Write the same question number as given in the question paper while answering a question in your answer book.

PART | (1X16= 16)

. Name the techniques pioneered by Pakistan in cricket
a)  Spinning and twisting
b) Doosra and reverse swing
c) Doosra and finger spin
d) None of the above
OR
Under what name did the Sari style begun by Jnanadanandini Devi become popular
a) Chapkan Sari
b)  Kodagu Sari
¢) Brahmika Sari
d) Chintz sari

2. An Australian cricketer who was the first to use an aluminum bat

a.  Thomas Arnold

b. C.K. Naidu

c. Dennis Lillee

d. Kerry Packer

OR

Monockjee Cowasjee Entee, an assessor in the Surat Foundation Adawlut, was barred entry
into the court room

a) Because he did not remove his turban

b) Because he refused to take off his shoes in the court of the session judge

c) Because he was wearing Indian clothes at official function.

d) Because he used cloth as a symbolic weapon against British

3. The tributaries that join the main stream at right angles, is -
a. Dendritic pattern
b. Rectangular pattern
c. Trellis pattern
d Radial pattern
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Wonths_Jan_Feb Kar Apr 'Way Jun Jul Aug Sep Oct Nov Decj
Temp. 205]22.7]25.2|27.1[26.7[24.2| 23 | 23 |23.1(22.9]18.9|20.2
Rainfall | 0.7 | 0.9 | 1.1 4.5 [10.7] 7.1 [11.1[13.7|16.4[153] 6.1 | 1.3
Find out the annual range of temperature.

(@) 89°C
(b) 8.2°C
©) 7.9°C
d) 84°C

5. What type of vegetation is found at high altitudes (more than 3600mts)?
(a) Tropical
(b) Alpine
(c) Sub-tropical
(d) Temperate

6. Identify the countries that has higher average population densities than India.
(a) Bangladesh, Japan.
(b) Bangladesh, Russia.
(c) Pakistan, Nepal.
(d) France, Srilanka

7. Which of these is a provision that a democratic constitution does not have
a) Powers of the head of the state
b) Name of the head of the state
c) Powers of the legislature
d) Name of the country

8. Some constituencies are reserved for Sc's and ST's so that
a) There is a fair representation of all sections of our society.
b) To make our country less representative and less democratic
¢c) People of deprived classes are free to leave their profession
d) Some people must have moved away from the area where they voted last.

9. The Supreme Commander of the Defense Forces of India
a) Army Commander
b) President
c) Prime Minister
d) Chief Justice

10. Who said the Right to Constitutional Remedies is “ the heart and soul of our Constitution
a) Jawaharlal Nehru
b) Mahatma Ghandhi
c) B.R. Ambedkar
d) Motilal Nehru

11. Which of the following freedoms is not available to an Indian Citizen?
a) Freedom to criticize the government
b) Freedom to participate in armed revolution
c) Freedom to protect one’s culture.
d) Freedom to work.





[image: image3.jpg]12. Which sector is the most labour absorbing sector of the economy?
a) Agricultural Sector ]

b) Industrial Sector

¢) Public Sector

d) None of the above

18

Identify the type of accident shown in the picture?
a) Rail Accident
b) Air Traffic Accident
. c) Road Accident
d) Chemical and Industrial Accident.

14)
Graph 3.3: Share of people living on $1 a day. 1980-2001
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Source: World Development Indicators 2005, The ‘World Bank.

Identify the country in which the ratio of poverty remains the same
South Asia

Sub-Saharan Africa

Latin American and Carribean

China

apop




[image: image4.jpg]. Which of the following dimensions are related to food security ?
a) Availability
b) Affordability
c) Accessibility
d) All of the above

Engineered structures designed and built to withstand ground shaking is associated with which
one of the following disasters?

a) Cyclone

b) Land Slides

c) Nuclear Hazards

d) Earth Quakes.

PART i

What were the economic and social causes of French Revolution? (Any 3 points )
OR
Explain why Nazi propaganda was effective in creating a hatred for Jews?(any 3 points)
OR
What were the main changes brought about by the Bolsheviks immediately after the October
Revolution? ‘

Why did the Tzarist autocracy collapse in 19177 3)
OR

What was the significance of Enabling Act? Write a note on Role of Women in Nazi society

(1933 —1945) ? (1+2=3)
OR

How would you explain the rise of Napoleon? (3)

Why are forest affected by wars? 3)
OR

Why were Indian farmers reluctant to grow opium?
OR

Discuss why the colonial government in India brought in the following laws. (1% +1%=3)

In each case explain how the law changed the lives of pastoralist.

a. Waste Land Rules

b. Criminal Tribes Act

How did the cultivation expand in the Colonial period? (3)
OR

Where do the Raikas live? Mention any two characteristic of their economy and life. (1+2 =3)
OR

What were the main causes of “Dust Bow!" ? 3)

i) What do you mean by a river system? (1+2=3)
ii) State any two economic benefits of rivers and lakes.

i) Define monsoon. (1+2=3)
iy Explain the difference between — ‘Burst’ of monsoon and ‘Breaks’ in monsoon.





[image: image5.jpg]23.

24.

25.

26.

27.

28.

28.

30.

31.

33.

34.

35.

36.

What is a biome? State any two steps taken by the government of India to protect the flora and

fauna of the country? (1+2=3)
Discuss the major components of population growth. (3)
Name the first black president of South Africa? What does the term Socialist as given in the
preamble of the Indian Constitution mean? (1+2=3)
Write a note on Election Laws. 3)
Distinguish between Cabinet and Council of Ministers. (3)
Why is educated unemployment a peculiar problem in Indian? 3)
Discuss any 3 causes for poverty in India? (3)
What are the problems of functioning of ration shop? (3)
Define Drought? Describe the main mitigation strategies to overcome drought effects?(1+2=3)
What are the steps to be taken in the event of a bomb scare? 3)
Explain why cricket became popular in India and West Indies? Can you give reason why it did
not become popular in South America? 4)
Why did Mahatma Gandhiji's dream of clg)tl:ing the nation in Khadi appeal only to some
sections of Indians? 4)

What are the three qualities of a “Right"? What legal procedure has to be followed while
arresting or detaining any citizen? (1+3=4)

Explain any four Programmes introduced by the government to alleviate poverty in India? (4)

Four features from (i) to (iv) are shown in the given outline political map of India.
Identify these features with the help of the following information and write their names
in the space provided on the map. 4)

iy The longest peninsular river.
ii) A city in Tamil Nadu which receives winter rainfall.
i) A National park.
iv) The least populous state in India.
OR
Locate and label the following on the given outline political map of India. (4)
i) Pulicat lake.
i)y An area receiving rainfall less than 20cm
iii) An area with Tropical Evergreen forest.
iv) The state having highest density of population.
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i) The longest peninsular river.

ii) A city in Tamilnadu which receives
winter rainfall.

iii) A National Park.

l iv) The least populous state in India.
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